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ST &1 o Ts S Ity |

7. 99 IAfAURGTT BT FHIBRIUT S DI fTFe! F1RT (0, +/10) 921 98 fo=g
(2,3) ¥ BHR ST B

8. 9 IAAURITT BT FHIGRUT S DIOTT TIDd! AT (+ 4, 0) TAT AT SidT
P THEE 12 B

@ Imue fhaar drar 16.1

©»

1. (a) 20x° + 36y = 405 (b) x> +2y* =100
(c) 8x* +9y* =1152

, B
2

@ e fhaar dRar 16.2

1. (ax—=by)’=2a’x-2b’y+a*+a’b* +b* =0.

2. 16x°+9y>—94x—142y—24xy+324=0

334 Tt



v uf=se
@ e feaer drRar 16.3

5

1. @) y-3me (ii) 3

a
(V) (£ae, 0) () x =J—“;
. b +d* .

2. () 2 Gi) (0, 0)
iv) (0. D) w b
(vi)) 2b (vili) 2a
(x) x-318f

AT AR BN

1. (a) 7x*+7y*=2xy—-16y+8=0

(b) 7x*+7y* +2xy+10x=10y+7=0

2b°
(i) /2 (iv) -
(vi)) (% a, 0)
Gi) (0, + be)
- 2a°
W
(ix) y-318&f

(£3, 0), R (++/34.0) Fracmai &1 wiawor x:i% e ST %)

V5 ) A5 21

2. (a)(i?,o Y (b)(O,J_r\/ﬁ);£

5

3. X*+4y°+4xy+116x+2y+259=0
4. 9x*—16y° =144
5. 16y*—9x* =576
34

6. () W:T,Waaaa%m
_ 50
-3

(i) S =[5, ATIR AeT Bl THS =

34’

%,W e B oETg = 1, 3N

[O,J_rﬂ,:nﬁr {O,J_rg},ﬁu?mﬁ BT FHIBROT y=L e = 2

2 2
g -2 =1

T yioxt=s 4 12

45’

T
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